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~ The amount of time spent by North American adults watching television per day is
normally distributed with a mean of 6 hours and a standard deviation of 1.5 hours.
tay What proportion of the population watches television for more than 7 hours
per day? ¢ 5 %)
¢b}  What is the probability that the average number of hours spent watching tele-
vision by a random sample of five adults is more than 7 hours? ¢ 5 %)

(¢ What is the probability that in a random sample of five adults all watch tele-
vision for more than 7 hours per day? (5 %)

= An agronomist planted three test plots each with four variaties of wheat and
obtained the following yields (in pounds per plot):

Variety A: 55, 55, 52
Variety B. 58, 358, 55
Variety C: 60, 61, 56
Variety D: 59, 52, 5l

Use the 0.05 level of significance to test whether the differences
among the four sample means can be attributed to chance. ¢/2)
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Two sample T for C1
c2 M Mean Schev SE Mean
1 & 138,00 4.00 1.6
2 & 140 .00 3.58 1.5
95% CI for mu (1) - mu (2): [ -6.9, 2.9
T-Test mu (1) = mu (2} [vs not =}: T= -0.31 P= 0.3 DE= 10

Both use Pooled StDev = 3,79
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